Filomat 38:14 (2024), 4817–4821 https://doi.org/10.2298/FIL2414817W



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

The solution of the Yang-Baxter-like operator equation for rank-one operators

Hua Wang^{a,*}, Junjie Huang^b

^aCollege of Sciences, Inner Mongolia University of Technology, Hohhot 010051, PRC ^bSchool of Mathematical Sciences, Inner Mongolia University, Hohhot 010021, PRC

Abstract. Let $A \in \mathcal{B}(\mathcal{H})$ be a rank-one operator, solutions of the Yang-Baxter-like operator equation AXA = XAX on Hilbert spaces are investigated. We derive necessary and sufficient conditions for an operator $X \in \mathcal{B}(\mathcal{H})$ being a solution of the equation. Further, a necessary and sufficient condition that the equation has a rank-one solution is obtained for an arbitrary operator A.

1. Introduction

Let $\mathcal{B}(\mathcal{H})$ stand for the set of all bounded linear operators on Hilbert space \mathcal{H} . Let $A \in \mathcal{B}(\mathcal{H})$ be a given operator, the quadratic operator equation

AXA = XAX

(1)

is called the Yang-Baxter-like operator equation, where $X \in \mathcal{B}(\mathcal{H})$ is the unknown operator to be determined. In the finite space, the equation (1) is the Yang-Baxter-like matrix equation, which arises from the classical Yang-Baxter equation[1, 12].

For the Yang-Baxter-like matrix equation, its all solutions are not easy to be found for an arbitrary matrix *A*. Using eigenvalues and the corresponding generalized eigenspaces, authors in [4] and [5] obtain infinitely many commuting spectral solutions of the equation if eigenvalues of the matrix *A* are semi-simple and non-semisimple, respectively. Further, the results are extended to an arbitrary square matrix *A*[14], and explicit commuting spectral solutions are constructed. When *A* is a general singular matrix, infinitely many solutions of the equation in [6] by splitting the equation into the system of linear matrix equations. Moreover, by the generalized inverses, infinitely many new nontrivial non-commuting solutions are also derived in [2] for both regular and singular matrix *A*. When $A^2 = I$ and *A* is a square matrix with general Jordan structure forms, methods of solving all commuting solutions (AX = XA) to the equation are proposed in [8] and [10], respectively. When *A* is a rank-one matrix, all solutions of the equation are

- Received: 19 May 2023; Revised: 17 October 2023; Accepted: 12 November 2023
- Communicated by Dragan S. Djordjević

²⁰²⁰ Mathematics Subject Classification. 47A62.

Keywords. Yang-Baxter-like operator equation, rank-one operator, solution.

This work is supported by the NNSF of China (No.12461027, 12261065), the NSF of Inner Mongolia (No. 2022MS01005), the Basic Science Research Fund of the Universities Directly under the Inner Mongolia Autonomous Region (Nos. JY20220084, JY20220151), and the PIRTU of Inner Mongolia (No. NMGIRT2317).

^{*} Corresponding author: Hua Wang

Email addresses: hrenly@163.com (Hua Wang), huangjunjie@imu.edu.cn (Junjie Huang)

constructed by utilizing the special structures of the Jordan canonical forms of *A* in [11], and all solutions are also expressed concisely based on the sufficient and necessary conditions derived for a matrix to be a solution of the equation in [7]. Moreover, when *A* is an idempotent matrix and rank-two matrix, the equation is completely solved in [9, 13].

The main aim of the present article is to study nontrivial solutions $(X \neq 0, A)$ of the operator equation (1) on Hilbert spaces, which is inspired by the work of [7]. It is easy to see that X = 0, A are solutions of the equation, and we call them trivial solution. In this paper, we present some necessary and sufficient conditions for an operator $X \in \mathcal{B}(\mathcal{H})$ being a solution of the equation (1) when A is a rank-one operator. Further, the necessary and sufficient condition that the equation has nontrivial solutions is obtained for the rank-one operator A. Based on the characteristic of the equation, we also give a necessary and sufficient condition that the equation (1) has rank-one solutions for an arbitrary operator $A \in \mathcal{B}(\mathcal{H})$.

We first give the definition and properties of the rank-one operator.

Definition 1.1. Let $A \in \mathcal{B}(\mathcal{H})$. If dim $\mathcal{R}(A) < \infty$, then we say that A is of finite rank. In particular, A is called a rank-one operator if dim $\mathcal{R}(A) = 1$.

Note that a rank-one operator is always of the form $f \otimes g$ for nonzero vectors f, g in \mathcal{H} . Here, the operator $f \otimes g$ is defined by

$$(f \otimes g)h = \langle h, g \rangle f$$
, for all $h \in \mathcal{H}$.

Lemma 1.2. Let $A \in \mathcal{B}(\mathcal{H})$, $f, g, f_1, f_2 \in \mathcal{H}$, and a, b are complex numbers, then the following holds. (1) $A(f \otimes g) = (Af) \otimes g$, $(f \otimes g)A = f \otimes (A^*g)$;

(2) $(af_1 + bf_2) \otimes g = a(f_1 \otimes g) + b(f_2 \otimes g), g \otimes (af_1 + bf_2) = \overline{a}(g \otimes f_1) + \overline{b}(g \otimes f_2);$ (3) $f \otimes g = 0$ if and only if f = 0 or g = 0.

2. Solutions of the equation AXA = XAX for the rank-one operator A

This section is devoted to investigate necessary and sufficient conditions for an operator $X \in \mathcal{B}(\mathcal{H})$ being a solution of the equation AXA = XAX when A is a rank-one operator.

Theorem 2.1. Let $A = f \otimes g$, where f, g are nonzero vectors in \mathcal{H} . If $\langle Xf, g \rangle = 0$ for an operator $X \in \mathcal{B}(\mathcal{H})$, then X is a solution of the equation AXA = XAX if and only if Xf = 0 or $X^*g = 0$.

Proof Sufficiency. If Xf = 0, then

$$AXA = (f \otimes g)X(f \otimes g) = (f \otimes g)((Xf) \otimes g) = 0,$$

$$XAX = X(f \otimes g)X = ((Xf) \otimes g)X = 0.$$

If $X^*g = 0$, then

 $AXA = (f \otimes (X^*g))(f \otimes g) = 0,$ $XAX = X(f \otimes (X^*g)) = 0.$

It is obvious that we get AXA = XAX if Xf = 0 or $X^*g = 0$.

Necessity. If *X* is a solution of the equation AXA = XAX, then, for any $h \in \mathcal{H}$, we have AXAh = XAXh, i.e., $(f \otimes g)X(f \otimes g)h = X(f \otimes g)Xh$. According to Lemma 1.2, it follows that

$$\begin{split} (f\otimes g)X(f\otimes g)h &= (f\otimes g)((Xf)\otimes g)h \\ &= \langle h,g\rangle(f\otimes g)Xf \\ &= \langle h,g\rangle\langle Xf,g\rangle f, \end{split}$$

and

$$X(f \otimes g)Xh = \langle Xh, g \rangle Xf.$$

Thus,

$$\langle Xh, g \rangle Xf = \langle h, g \rangle \langle Xf, g \rangle f.$$

From the assumption $\langle Xf, g \rangle = 0$, we obtain that $\langle Xh, g \rangle Xf = 0$, which shows Xf = 0 or $\langle Xh, g \rangle = 0$. Since *h* is arbitrary, it follows that $X^*g = 0$. We complete the proof.

Corollary 2.2. Let $A = f \otimes g$, where f, g are nonzero vectors in \mathcal{H} . If $\langle Xf, g \rangle = 0$ for an operator $X \in \mathcal{B}(\mathcal{H})$, then X is a solution of the equation AXA = XAX if and only if X has the eigenpair (0, f) or X^* has the eigenpair (0, g).

Theorem 2.3. Let $A = f \otimes g$, where f, g are nonzero vectors in \mathcal{H} . If $\langle Xf, g \rangle = 0$ for an operator $X \in \mathcal{B}(\mathcal{H})$, then

(1) *X* is a commuting solution of the equation AXA = XAX if and only if Xf = 0 and $X^*g = 0$.

(2) *X* is a non-commuting solution of the equation AXA = XAX if and only if one and only one of the equalities Xf = 0 and $X^*g = 0$ is satisfied.

Proof We only prove (1), and (2) is similar.

Sufficiency. If Xf = 0 and $X^*g = 0$, then X is a solution of the equation AXA = XAX from Theorem 2.1. Note that

$$AX = (f \otimes g)X = f \otimes (X^*g) = 0,$$

$$XA = X(f \otimes g) = (Xf) \otimes g = 0,$$

which show that AX = XA, and hence, X is a commuting solution of the equation AXA = XAX.

Necessity. If *X* is a commuting solution of the equation AXA = XAX, then, by Theorem 2.1, we know Xf = 0 or $X^*g = 0$. Now, assume that Xf = 0 and $X^*g \neq 0$, and then

$$AX = (f \otimes g)X = f \otimes (X^*g) \neq 0$$

since $f \neq 0$, and

$$XA = X(f \otimes g) = (Xf) \otimes g = 0.$$

It is clear that $AX \neq XA$, a contradiction. Similarly, assume that $X^*g = 0$ and $Xf \neq 0$, we also obtain a contradiction. We complete the proof.

Theorem 2.4. Let $A = f \otimes g$, where f, g are nonzero vectors in \mathcal{H} . If the solution of the equation AXA = XAX satisfies $\langle Xf, g \rangle \neq 0$, then $\langle f, g \rangle \neq 0$.

Proof If $X \in \mathcal{B}(\mathcal{H})$ is a solution of AXA = XAX, then, by (2), it follows that

$$\langle Xh,g\rangle\langle Xf,g\rangle = \langle h,g\rangle\langle Xf,g\rangle\langle f,g\rangle$$

for any $h \in \mathcal{H}$. We take h = f, then $\langle f, g \rangle \neq 0$ is obtained since $\langle Xf, g \rangle \neq 0$.

Theorem 2.5. Let $A = f \otimes g$, where f, g are nonzero vectors in \mathcal{H} . If $\langle Xf, g \rangle \neq 0$ for an operator $X \in \mathcal{B}(\mathcal{H})$, then X is a solution of the equation AXA = XAX if and only if $Xf = \langle f, g \rangle f$ and $X^*g = \langle g, f \rangle g$.

Proof Sufficiency. Assume $Xf = \langle f, g \rangle f$ and $X^*g = \langle g, f \rangle g$. Then, by $\langle f, g \rangle f = (f \otimes g)f$, $\langle g, f \rangle g = (g \otimes f)g$, and Lemma 1.2,

$$AXA = (f \otimes g)((Xf) \otimes g)$$

= $\langle f, g \rangle (f \otimes g)(f \otimes g)$
= $(\langle f, g \rangle)^2 (f \otimes g)$
= $(\langle f, g \rangle f) \otimes (\langle g, f \rangle g)$
= $(Xf) \otimes (X^*g)$
= $X(f \otimes g)X$
= $XAX.$

(2)

So, *X* is a solution of the equation AXA = XAX.

Necessity. Assume that X is a solution of the equation AXA = XAX. We take h = f in (2), then we have

$$\langle Xf,g\rangle Xf = \langle f,g\rangle\langle Xf,g\rangle f.$$

This yields $Xf = \langle f, g \rangle f$ since $\langle Xf, g \rangle \neq 0$. Now, substituting $Xf = \langle f, g \rangle f$ into (2), it deduces

$$\langle Xh,g\rangle\langle f,g\rangle f = \langle h,g\rangle\langle f,g\rangle\langle f,g\rangle f.$$

According to Theorem 2.4, $\langle f, g \rangle \neq 0$. Thus,

$$\langle Xh,g\rangle f = \langle h,g\rangle \langle f,g\rangle f,$$

This gives

$$\langle h, X^* q - \langle q, f \rangle q \rangle f = 0,$$

Since *h* is arbitrary and $f \neq 0$, $X^*g = \langle g, f \rangle g$ is followed. The proof is completed.

Corollary 2.6. Let $A = f \otimes g$, where f, g are nonzero vectors in \mathcal{H} . If $\langle Xf, g \rangle \neq 0$ for an operator $X \in \mathcal{B}(\mathcal{H})$, then X is a solution of the equation AXA = XAX if and only if X and X^* have eigenpairs ($\langle f, g \rangle, f$) and ($\langle g, f \rangle, g$), respectively.

Remark 2.7. In fact, in Theorem 2.5, the solution is commuting solution of the equation AXA = XAX since

$$AX = (f \otimes g)X = f \otimes (X^*g) = \langle f, g \rangle f \otimes g = (Xf) \otimes g = X(f \otimes g) = XA.$$

Theorem 2.1 and Theorem 2.5 give the necessary and sufficient condition for existence of the nontrivial solution of the equation AXA = XAX.

Theorem 2.8. Let $A = f \otimes g$, where f, g are nonzero vectors in \mathcal{H} . Then the equation AXA = XAX has a nontrivial solution $X \in \mathcal{B}(\mathcal{H})$ if and only if one of the following conditions holds for $X \neq 0, A$:

(1) $0 \in \sigma_p(X)$ and f is the eigenvector corresponding to 0, or $0 \in \sigma_p(X^*)$ and g is the eigenvector corresponding to 0;

(2) $\langle f, g \rangle \in \sigma_p(X) \cap \overline{\sigma_p(X^*)}$, and f, g are eigenvectors of X and X^{*} corresponding to $\langle f, g \rangle$, respectively.

One interesting question arises: is X possibly a rank-one, and A is not? Note that the characteristic of the operator equation AXA = XAX, we give the following result on rank-one solutions by Theorem 2.8.

Theorem 2.9. Let $A \in \mathcal{B}(\mathcal{H})$. Then the equation AXA = XAX has a rank-one solution if and only if one of the following conditions holds:

(1) $0 \in \sigma_p(A)$, or $0 \in \sigma_p(A^*)$;

(2) there exist nonzero vectors $f, g \in \mathcal{H}$ such that $\langle f, g \rangle \in \sigma_p(A) \cap \sigma_p(A^*)$, and f, g are eigenvectors of A and A^* corresponding to $\langle f, g \rangle$, respectively.

References

- [1] R. J. Baxter, Partition function of the eight-vertex lattice model, Ann. Phys. 70 (1972), 193-228.
- [2] N C. Dinčić, B D. Djordjević, On the intrinsic structure of the solution set to the Yang-Baxter-like matrix equation, Rev. Real Acad. Cienc. Exactas Fis. Nat. Ser. A-Mat., 116 (2022), 73.
- [3] N C. Dinčić, B D. Djordjević, Yang-Baxter-Like Matrix Equation: A Road Less Taken. In: Moslehian, M.S. (eds) Matrix and Operator Equations and Applications. Mathematics Online First Collections. Springer, Cham. https://doi.org/10.1007/16618_2023_49.
- [4] J. Ding, C. Zhang, On the structure of the spectral solutions of the Yang-Baxter matrix equation, Appl. Math. Lett. 35 (2014), 86-89.
- [5] Q. Dong, Projection-based commuting solutions of the Yang-Baxter matrix equation for non-semisimple eigenvalues, Appl. Math. Lett. 64 (2017), 231-234.
- [6] A. Kumar, J. R. Cardoso, G. Singh, Explicit solutions of the singular Yang-Baxter-like matrix equation and their numerical computation, Mediterr. J. Math. 19 (2022), 85.

4820

- [7] L. Z. Lu, Manifold expressions of all solutions of the Yang-Baxter-like matrix equation for rank-one matrices, Appl. Math. Lett. 132 (2022), 108175.
- [8] S. Mansour, J. Ding, Q. Huang, L. Zhu, Solving a class of quadratic matrix equations, Appl. Math. Lett. 82 (2018), 58-63.
- [9] S. Mansour, J. Ding, Q. Huang, Explicit solutions of the Yang-Baxter-like matrix equation for an idempotent matrix, Appl. Math. Lett. 63 (2017), 71-76.
- [10] D. Shen, M. Wei, Z. Jia, On commuting solutions of the Yang-Baxter-like matrix equation, J. Math. Anal. Appl. 462 (2018), 665-696.
- [11] H. Tian, All solutions of the Yang-Baxter-like matrix equation for rank-one matrices, Appl. Math. Lett. 51 (2016), 55-59.
- [12] C. N. Yang, Some exact results for the many-body problem in one dimension with repulsive delta-function interaction, Phys. Rev. Lett. 19 (1967), 1312-1315.
- [13] D. Zhou, G. Chen, J. Ding, Solving the Yang-Baxter-like matrix equation for rank-two matrices, J. Comput. Appl. Math. 313 (2017), 142-151.
- [14] D. Zhou, G. Chen, G. Yu, J. Zhong, On the projection-based commuting solutions of the Yang-Baxter matrix equation, Appl. Math. Lett. 79 (2018), 155-161.